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#Suppose we have 3 math

books and 2 biology books.

How manyways can
we put

the books on a shelf

so thatthe math books

are nexttoeach other?
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Total =3.12
=36
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Another way:

think ofmath
as a

unit

and two bio as separate.

So, 3 objects.

Step 1:Order
the 3 objects
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A2:Fill in mathchunk
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Suppose we have
n objects

where n, ofthem
are alike

lie the same or
indistinguishable),
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:How many permutations

are there ofthe letters

a,a,b,c
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minations
Consider a set

of size n.

the number ofsubsets
of

sizer where
0 IrIn

is

look
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read: for
formula
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This is the same as the #

of ways thatobjects

can be selected/chosenI
order doesn'tmatter

Sfrom a objects where
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Suppose a dealer has the

following cards:

⑭
How many ways

can
the

dealer deal you two

these four?
cards from

Ex:Lorderent
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#Adealer has a
standard 52-cad

deck.

They deal you
5 curds.

How many possible hands

can you yet?

hand:
Royal Flush!

⑭r!

!
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13 17

-!$47-1
=13.17.10.49.24

=960


